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CHEMISTRY

BOOKS - MS CHOUHAN

ALDEHYDES AND KETONES

0 NGHKOWHLO 4y
[ Waolff -Kishner reduction]  majar

, Product A


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lDVp8guDfbho

OH

(8]
A NO,
cl 0/3
(8]
B NO;
Cl
(]
NC
C. !
OH
oLy
D. "0z
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_lDVp8guDfbho

C — CH,4 CHy — CHy

@ &
Above conversion can be achieved by :
A. A) Wolf-Kishner reduction
B. B) Clemmensen reduction

C.C) LiAlH,

D.D) NaBH,4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jwE7HQZbtXH1

o
CH,-—-—g—m-li—mg——CH\—-;H, —p ::H_.,-—(c:l-l,J,——m{—/s:u,

3, O o]

Above conversion can be achieved by :

A. Wolf-Kishner reduction
B. Clemmensen reduction
C.HS — CH; — CHy; — SH> following by Raney Ni

D. None of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dugHW0UwwPrV

O

|
C — CH,

@ et
HC
NO,

4. , Product

of the Clemmensen reduction is :

CHy — CH,
i ~NO.
A A) ?
OH
CH — CHy

i ~NO,
B. B)


https://dl.doubtnut.com/l/_8Dp1fCQKYl2Y

CH, — CHy

NH
C.C) 2
?H
CHz — CHy
NO,
D.D)
Answer: C

o Watch Video Solution

OH o] OH

I l |
CHy —CH —CHjy — CH, —C — CHy — CHy — CH— (CH, )3 — CH,
5.

Above conversion can be achieved by :

A. Wolf-Kishner reduction


https://dl.doubtnut.com/l/_8Dp1fCQKYl2Y
https://dl.doubtnut.com/l/_KFc5dLM3Sjhd

B. Clemmensen reduction

C.LiAlH,

D. NaBH,

Answer: A

° Watch Video Solution

0

o_ CHy — CHy CHy— c:H, CH, — CHy
'm“*“
Ny, N
nro v

Identify product (A) & (B) from the given product P, Q,R

A.A=P,B=0Q

B.A=Q,B=R

C.A=Q,B=P


https://dl.doubtnut.com/l/_KFc5dLM3Sjhd
https://dl.doubtnut.com/l/_C9fW0P9dddBR

D.A=R,B=P

Answer: C

° Watch Video Solution

O
C — CH,4
—LaHg , (A);
HCl
7. HG , Identify
the A.
/Q/CH, — CHy
A HO
Cl-


https://dl.doubtnut.com/l/_C9fW0P9dddBR
https://dl.doubtnut.com/l/_cCYeXrvb8xW2

OH

Answer: B

o Watch Video Solution

C — CHj,

H jH..

T, A
[ ‘Wil il- Keshrer reduction)

r (A)

CH, — CH, —Br
2 2 , Product


https://dl.doubtnut.com/l/_cCYeXrvb8xW2
https://dl.doubtnut.com/l/_EPmd3JHsp3b7

CHy — CHy

A CHy—CH—OH

L

C.
(llH — CH 3
Br
D.
Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_EPmd3JHsp3b7

0 0 0 O

7
é/\n/
0

9, . , Above
conversion can be carried out by :

A. Clemmensen reduction

B. Wolf-Kishner reduction

C.LiAlH,

D. NaBH,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EPmd3JHsp3b7
https://dl.doubtnut.com/l/_WZYBbtCszl0d

10. Increasing order of equilibrium constants for the formation of a

hydrate:
0 0 0 o
NHj 0N
m m) (mmy )

ATV <IIIT < II <1
B.IV < IIl <1I<II
CIl<II<III<IV

D.IIT < III <I< IV

Answer: C

° Watch Video Solution

O )—c=c _<:}_ucH L, (A)
11 @ ¥ dil H;50, Major produc

(A)is :

Product


https://dl.doubtnut.com/l/_xByFa2iHLtWv
https://dl.doubtnut.com/l/_otQM8VwhDcii

Answer: C

o Watch Video Solution

12.

Predict the product of hydrolysis of the above molecule.


https://dl.doubtnut.com/l/_otQM8VwhDcii
https://dl.doubtnut.com/l/_SQUN2OgKraGz

CO4H

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SQUN2OgKraGz

OH OH
OH OH

OH O .
13. , This

conversion can be achieved by :
A. MBQCO/H+, H30®, KM’nO4/HO_
B. MexCO/H ™, KMnOy, H;O™
C. KMTLO4/NCLO4, MezCO/H+, I‘IgO+

D. KMnO4/NaIO4, H30+, MGQCO/H+

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Yf6bJMNpdrpE

I S G I

Compound (A) & (B) can be differentiated by :

14.

A. 2-4-DNP

B. Fehling solution

C. Lucas reagent

D. NaHSO3

Answer: B

o Watch Video Solution

OMe

DHQ (l:i'
e OMe - __HOLN' feaaiyst (4} 4 H— C —OMe; |
2071 Smin Methyl formate

15. , Product


https://dl.doubtnut.com/l/_iKd6QlplgJ0q
https://dl.doubtnut.com/l/_tabsJ0UyQTuN

OH
O<UHI
(9]
A.
OMe
OMe
O
B.
OMe
Me
(]
C.
Me
O
O
D.

Answer: B

o Watch Video Solution

0

Reagents to carry out above conversion, P, Q, R respectively are :


https://dl.doubtnut.com/l/_tabsJ0UyQTuN
https://dl.doubtnut.com/l/_KxtgkUmaJMqg

A H,C = CH — CH, — Br, (H09>, [Hoe, A], Wacker-
process

B. H,C = CH — CH, — Br, (HOG>,Wacker-process, HO®°, A

C. Wacker process,
H,C = CH — CH, — Br, (Hoe), HO®, (A)

D. Wacker process,

HO®(A), H,C = CH — CH, — Br, <HO°)

Answer: B

o Watch Video Solution

17.

Above reaction is a Baeyer Villiger rearrangement of an asymmetric


https://dl.doubtnut.com/l/_KxtgkUmaJMqg
https://dl.doubtnut.com/l/_k27NTPk0xY97

ketone with magnesium mono peroxo pthalate hexahydrate (in the

drawing, Mg "2 is omitted for clearity) Identify major product.

O
c:"'n
A.
]

(5
R

O
nﬁlj

i
OH, f R

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_k27NTPk0xY97

OCH, OH

and

O O

18.

Above compounds can be differentiated by following reagent:
A. 2-4 DNP (Brady reagent)
B. Tollen's reagent

C. Lucas reagent

D. NaHSO3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_k27NTPk0xY97
https://dl.doubtnut.com/l/_kI2fSUvde03D

OH

C o
OH  PCC (excess) 1 chjl CH Mghe NaBiH
> (A) -qt;' m"-‘(,ﬂ) s ;(C.'J'—'—-J"'CDI

Product (D) will be :

19.

oH OH
lé/ <|:1| — CH,
A
OH
oa
B.
OH
™
C.
OH
é/mt
D.
Answer: B



https://dl.doubtnut.com/l/_1jLR4aLoXcHL

| @J Watch Video Solution

BH,, THF =mwmmom;=(m

HaOg 011 GHyCly
EHH—CH _— CH2-
H]iﬂ.ﬁtli.}%ﬂ @®) Pyridiniym Chiore Chromate (PCC) s
20. NaBH, HO CH,Cly > ()

Relationship between products (Q) and (S) is:

A. Positional isomer

B. Chain isomer

C. Stereoisomer

D. Functional isomer

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1jLR4aLoXcHL
https://dl.doubtnut.com/l/_HcWW0TmWdRpa

21. In the reaction,

[ Al{Hg], benzene, heal . X
0 2, 130, heat '

, the product

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7ixD2K7v6w4P

22. Rank the following in order of increasing value of the equilibrium

constant for hydration, Kj,yq . (smallest value first).

" ﬁ
|>= O (CHy)3CCCICH,)s

Al<2<3

B.3<1<2

C2<1<3

D.2<3<1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uF8wLnqpAPiT

23.
Above conversion can be achieved by :
A.Zn(Hg), HCl
B.NH, — NH, /KOH /A
C.LiAlH,

D.H,/Ni

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_OU3pXCvRwhj0
https://dl.doubtnut.com/l/_5kM938REslPF

24. Which sequence represents the best synthesis of hexanal ?

CH4CH ,CH,CH 4CH,CH = O
Haxmnal 0
Il
(a) 1.CH4CH,CH,; CH;Br + NaC = CH (b) 1.CHyCH,CH,CH = CH, + CH,C OOH
2. H0, H,80,, HgsSO, 2. CHyMgBr, diethy! ether
3. H,0"
4, PCC, CH,Cl,
!
{c) 1.CH,CH,CH,CH,C CH, {d) 1. CHyCHyCHyCH,MgBr + HyG — CH,
| .
2,CH,CO0H 3. LiAlH, 2. H,0 3. PCC, CH,Cl,
4. H,0 5. PCC, CH,Cl,

° Watch Video Solution

O
é _H!Eh._,[ﬂ} M_,[El
25.

(B) in this reaction is :

A A)

, Product


https://dl.doubtnut.com/l/_5kM938REslPF
https://dl.doubtnut.com/l/_FzUQkoWPMYgW

B. B)

C.Q)

o Do D=

D.D)


https://dl.doubtnut.com/l/_FzUQkoWPMYgW

Answer: C

° Watch Video Solution

CH,OH -::H,n-\\
HO —— 1 HO —— H
H —— oH o, H 0 i
H ——— OH H ——t—— OH
26. CH, — OH CH, — OH

Compound (x) in the above reaction is :

0]
A.A)Ph—|C|’—C’H3
0]
B.B)Ph—|C|’—H
0]
C.C)Ph—CH2—|C|'—H
0]

I
D.D) Ph — CH, — C — CH,

Answer: B

| ﬂ Watch Video Solution



https://dl.doubtnut.com/l/_FzUQkoWPMYgW
https://dl.doubtnut.com/l/_iaW1v4JvYk7O

0
[

Product ( C) of the above reaction is :

27.Ph — C — CH, 2% (4) 228 () % (

HCl heat

A.Ph — CO.H
o

B. Ph — |C|' — CO.H
o o

CPh-O-C-H
o

D. Ph — |C|' — CH,OH

Answer: B

H;0°

C)

° Watch Video Solution



https://dl.doubtnut.com/l/_iaW1v4JvYk7O
https://dl.doubtnut.com/l/_SMEiim4zbAd8

()
I
H—C H ,(a) 2% , (B)
2HC]
28. , Product

(B) of the reaction is :

A.Ph — CH, — NO,

B. Ph — CH; — ONO

C.Ph — CHO

D.Ph—O—-N=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_cTYkia3LpGHl

8, (A);

0.75 mole %, [100%)
AKCLy Bt 0
29.

Product (A) of the above reaction is (bromination occur not in the

benzene ring) :

0 Br
A. @k}\
0
Br
B.
0
o "
C.
i
C CHy
Nonte

Answer: B



https://dl.doubtnut.com/l/_h5byAOXBqWHl

| o Watch Video Solution

Positive

Tollens test Compound (A) is :

L8]

I
CH, “-C-(I:H—-?Hz
OCH, OCH,
A A)

:

CH; _l:‘—(.lj'—c-Hg

OCH,
B.B)

CHy — C— CH, — CH — OCH,
[

i
H—C—CH, —CH, —CH — OCH,
|

OCH,

D. D)


https://dl.doubtnut.com/l/_h5byAOXBqWHl
https://dl.doubtnut.com/l/_552YtvvQwER6

Answer: C

0 Watch Video Solution

CigHig —2— (B)

[A) CaHgO
31.

(A) in this reaction is :

Ph CH,
om
A Ph CH,
P /s
/ ~
p. M wh
Ph Ph
:c -’
c CH N CH,

D. both (b) and ©

Answer: D

NHy—NH,
HO [a

, Reactant


https://dl.doubtnut.com/l/_552YtvvQwER6
https://dl.doubtnut.com/l/_55B80Xphss8g

° Watch Video Solution

1-methy| 1-cychohexyl
32 I id lodoform 1-4 DNP

Compound (P) is :

0
ACHy — C -
0
5.CHy — C
0
c.cty - C -
o
0.CHy — C -

Answer: C

C7H140;

+ive ~ive +ve rest with

CH; — CHy; — CH> — C|H — CH;

H
OH

|
CH, — CH — CH; — CH> — CHj3

CH, — CH; — CHy — CHy, — CHy — OH

OH
|
CH — |C — CHs
|
CH3 CH;3

o Watch Video Solution



https://dl.doubtnut.com/l/_55B80Xphss8g
https://dl.doubtnut.com/l/_t3gCz7uRN9t7
https://dl.doubtnut.com/l/_tCoKAtYlg3gu

33. Correct order of reactivity of following compounds towards

Grignard reagent?

I i A
CHy —C—H H—C—H ct —@
M - (m

AAT>II>III

B.B)II > 1> 1II

COII>III>1I

D.D)I > III > II

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tCoKAtYlg3gu

CH ——LH—CH —( H!—QH _____'_._Hﬂlﬂ [ﬂ.]r
3 I TeDH, A 2%

OH

, Product


https://dl.doubtnut.com/l/_PKQAdlKpw9PR

Answer: B

° Watch Video Solution

0 I
I _KOH
(CHg)4C0 — C — CH; — CHy — -:ln-l OCH,CH,CH3 w00,
OH OCH,

The number of products obtained in above reaction is :

35.

A2

B.3

C.4

D.5


https://dl.doubtnut.com/l/_PKQAdlKpw9PR
https://dl.doubtnut.com/l/_vEuTXqxOfSwF

Answer: A

0 Watch Video Solution

36. What reagent and/or reaction conditions would you choose to

bring about the following conversion?

O
MJ — O—CH == 0 +HOCH,CH,0H

A.1.LiAlH,, 2. H,O
B. H20, H2504, heat
C. H,O, NaOH, heat

D. PCC , CH,Cl,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vEuTXqxOfSwF
https://dl.doubtnut.com/l/_dI7bEUM0BeUP
https://dl.doubtnut.com/l/_KKXnm9BVIwfU

Ml eRoesd

KH excess 5 8194 }deld ,.

37. , Product

of the reaction is :

)


https://dl.doubtnut.com/l/_KKXnm9BVIwfU

Answer: C

° Watch Video Solution

i
HG—O—rZ: — HO

38.

The above reduction can be best carried out by :
A. A) Clemmensen reduction
B. B) Wolf-Kishner reduction

C. C) NO,BH4


https://dl.doubtnut.com/l/_KKXnm9BVIwfU
https://dl.doubtnut.com/l/_Pjk5Rkh5LMc2

D. D) None of these

Answer: D

° Watch Video Solution

HgSO4
39.CH3 - C=CH ——— (A)
dil. H,SO4
(1) BH; . THF
CHy,—-C=CH ——
(2)H,0,/HO~

Product (A) and (B) is differentiated by :

A. 2-4-DNP
B. NaOl

C. Na-metal

D. NaHSO;),

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Pjk5Rkh5LMc2
https://dl.doubtnut.com/l/_uKOkvMi0Pcmb

—HEN |, a)bAH, (g ""H m‘“* v (C)
40.

End product ( C) in above reaction is :


https://dl.doubtnut.com/l/_d9d5RBtYizIW

n l

Answer: A

° Watch Video Solution

41. Compound (X) C4HgO, which reacts with 2,4-DNP derivative and

gives negative haloform test is :

(0]

||
A.A)CH; — C — CHy, — CHj
B.B)CH; — CH — CHO

|
CHj

OH

C.Q)
OH

|
D.D)CH; — CHy — CH — CHj3


https://dl.doubtnut.com/l/_d9d5RBtYizIW
https://dl.doubtnut.com/l/_mNNreWaoNota

Answer: B

0 Watch Video Solution

42.When a nucleophile encounters a ketone, the site of attackiis :

A. A) the carbon atom of the carbonyl

B. B) the oxygen atom of the carbonyl

C. C) both the carbon and oxygen atoms, with equal probability

D. D) no attack occurs as ketones do not react with nucleophiles

Answer: A

o Watch Video Solution

43.The correct order of rate of reaction toward nucleophilic addition

reaction:


https://dl.doubtnut.com/l/_mNNreWaoNota
https://dl.doubtnut.com/l/_jgmdPJ9IOkb0
https://dl.doubtnut.com/l/_I3HYxGmC1jTb

OMe
e) {d}) (e)

0 (8} 0O
0 f
I C -Ph
CHy - C - Et t
NO,
[£] (b

AAa>b>c>d>e
B.B)a >b>d>c>ce
CQa>d>e>b>c

D.D)a>b>e>d>c

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_I3HYxGmC1jTb

44, The structure

OH
H

would be

best classified as a (an) :

A. A) Acetal
B. B) Hemiacetal
C. C) Hydrate

D. D) Cyanohydrin

Answer: B

| |


https://dl.doubtnut.com/l/_pxun29gApDRJ

[ W Watch Video Solution ]

45. Which of the following pairs of reactants is most effective in

forming an enamine ?

o

||
A.CH3CH>CH + [(CH3)2CH]2NH

o]

Om,_m_m,
B.

o

|
C. (CH3)3CCH + (CH3)2NH

D. None of these form an enamine.

Answer: B

o Watch Video Solution

46. The reaction of Cs HsCH = CHCHO with LiAlH, gives :

A.C¢eHsCHy,CH>sCH>yOH


https://dl.doubtnut.com/l/_pxun29gApDRJ
https://dl.doubtnut.com/l/_dzl9S86Kzyop
https://dl.doubtnut.com/l/_ArKDyg65fmL9

B.CsHsCH = CHCH,OH

C. CsHsCH,CH,CHO

D. CsH;CH,CHOHCH,

Answer: A

° Watch Video Solution

Hlﬂ"i '{-I'.!:I

47.

(B) of the reaction is :

(B);

, Product


https://dl.doubtnut.com/l/_ArKDyg65fmL9
https://dl.doubtnut.com/l/_i9qXwKxg1ayT

Answer: B

o Watch Video Solution

48. Which of following compound is hemiacetal ?


https://dl.doubtnut.com/l/_i9qXwKxg1ayT
https://dl.doubtnut.com/l/_eyP7EfbaWHtb

HO e

A.
H
B.
C.
D. all of these
Answer: D

° Watch Video Solution

LDA CH,I
49. Ph—CHy, —C=N— — T71%, End product of the
THF

reaction will be :


https://dl.doubtnut.com/l/_eyP7EfbaWHtb
https://dl.doubtnut.com/l/_uUFkJGUQHecA

A.Ph — CH; — CH, — NH,

B.Ph — CHy, — NH,

C.Ph—C]H—CEN
CH3

D.Ph—CH =C =N - CH;

Answer: C

o Watch Video Solution

o

I
50.Ph — CH = CH — C — CH3; — Ph — CH = CH — CO,H

Above conversion can be achieved by :
A. KMnOy, A followed by H *
B.I, / NaOH followed by H *
C.H,/Pt

D. Li ALH,


https://dl.doubtnut.com/l/_uUFkJGUQHecA
https://dl.doubtnut.com/l/_Iu735ybBL7Y3

Answer: B

0 Watch Video Solution

51. Products,

Product of the reaction is/are:

OH

OH

OH
OH


https://dl.doubtnut.com/l/_Iu735ybBL7Y3
https://dl.doubtnut.com/l/_O1IRN5loNTvF

C. HCHO

D. Both (a) and ( ¢)

Answer: D

o Watch Video Solution

)
fjﬂsﬂﬁw;

(A) of the reaction is :

, Product

O


https://dl.doubtnut.com/l/_O1IRN5loNTvF
https://dl.doubtnut.com/l/_ZXR3xy0kbzXI

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXR3xy0kbzXI

CH,4
OCH, _B'l."'ﬁﬂ_; (A) + CHBry
+

LI}

53. , Product

( C) of the reaction is :


https://dl.doubtnut.com/l/_B2296AIrgvfm

Answer: B

° Watch Video Solution

M 139" , (4) + 2 Glycol
54. |

Product (A) of the reaction will be :

Al
B. s
c. =

D. s

Answer: C


https://dl.doubtnut.com/l/_B2296AIrgvfm
https://dl.doubtnut.com/l/_LNSi75pHKsln

0 Watch Video Solution

O

R—-NH;
55. R — C’ H —— R — CH = N — R. This reaction gives best

yield at :

A.A)pH1-2

B.B)pH4-5

C.C) pH 10 -11

D) pH 13 - 14

Answer: B

o Watch Video Solution

56. An aromatic compound A of the molecular formula CsH,O on

reaction with iodine and dilute NaOH gives a yellow precipitate. The


https://dl.doubtnut.com/l/_LNSi75pHKsln
https://dl.doubtnut.com/l/_VMc9LZvHinXu
https://dl.doubtnut.com/l/_3VfRFDpEDOkk

structure of the compound is expected to be:

{|:|_CH3
A. A) 0

B.B) C¢e HsCHOHCHj;3

CH:‘@_ CHzDH
C.Q)

D.D)

Answer: B

o Watch Video Solution

57. Compound 'A' (molecular formula C3HgO)is treated with acidified
potassium dichromate to form a product 'B' (molecular formula
C3HgO).B' forms a shining silver mirror on warming with ammoniacal

silver nitrate. 'B'when treated with an aqueous solution of


https://dl.doubtnut.com/l/_3VfRFDpEDOkk
https://dl.doubtnut.com/l/_ennLlFzbl9ne

H,NCONHNH,, HCI and sodium acetate gives a product 'C'.

Identify the structure of C:

A.CH;CH,CH = NNHCONH,

B.CH; C = NHHCONH,

|
CHj3

C.CH3 C = NCONHNH,

|
CHs3

D.CH3CH2CH = NCONHNH,

Answer: A

° Watch Video Solution

58. In the reaction, the acid obtained will be :

CH;CHO + HCN — CH;CH(OH)CN =% cH;CH(OH)COOH

A. A) D-isomer

B. B) L-isomer


https://dl.doubtnut.com/l/_ennLlFzbl9ne
https://dl.doubtnut.com/l/_vJYMLVVmKVzz

C. C) (80%D + 20%L) mixture

D. D) (50%D + 50%L) mixture

Answer: D

o Watch Video Solution

59.In the following sequence :
NaCN Ni/H tic anhydrid
CH,CH,Cl ~25 (i) —— (43) ———"" (44), Product (iii) is :

A.A) CH;CH,CH,NH,
B.B) CH;CH,CH,CONHCH;
C.C) CH3CH,CH,NHCOCH,

D.D) CH3;CH,CH,CONHCOCHj,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_vJYMLVVmKVzz
https://dl.doubtnut.com/l/_DFDaoUsFtOJs

I
O L=l en H40®
< “ioa @

(8]
60.

Product (G) is :

i
0 -OH
A. <0@
H0:©/502H

HO - CH
B. 2
C. HO

C-H

D.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DFDaoUsFtOJs
https://dl.doubtnut.com/l/_DTByM5EDFlg7
https://dl.doubtnut.com/l/_AX5bAMlQ6jYB

61. Carbonyl compounds can generally be converted to hydrocarbons
by :

A. H, /Pt

B. LiAlH,

C.N:Hy — KOH /A

D. KoCroO7 — H2 504

Answer: C

O Watch Video Solution

1) 04
(2) 0
(3) .:ifiﬁﬂ4

H
62. (4) H , Product

(A)is:


https://dl.doubtnut.com/l/_AX5bAMlQ6jYB
https://dl.doubtnut.com/l/_WzIVYLGtFxdu

Et


https://dl.doubtnut.com/l/_WzIVYLGtFxdu

Answer: A

o Watch Video Solution

63. Which statement about the aldol condensation is correct ?

A. A Lewis acid is commonly used as a catalyst

B. The initial step is probably the formation of a carbanion

C. A Lewis base is employed to induce carbocation formation

D.The carbon chain is lengthend through the elimination of 1

mole of water.

Answer: B



https://dl.doubtnut.com/l/_WzIVYLGtFxdu
https://dl.doubtnut.com/l/_ZpPFPq8gCCpo

0 Watch Video Solution

64. A compound gives a positive test with I, / NaOH and is extracted
from benzene by saturated NaH SOjs. It may be :

A. CH3(CH2)4C’HO

B. CH3(CH2)3COCH3

C.CH;CH,COCH,CH,4

D. CH3(CH,),CH,OH

Answer: B

° Watch Video Solution

65. Which of the following compounds on reaction with excess

CH3MgBr and subsequent hydrolysis will give a tertiary alcohol?


https://dl.doubtnut.com/l/_ZpPFPq8gCCpo
https://dl.doubtnut.com/l/_6TtPr7O1mojR
https://dl.doubtnut.com/l/_VW6XWif33C9w

A C,H,CHO
B. Oy H;CO,CH
C. C, H;COOH

L
O

D.

Answer: B

° Watch Video Solution

Reactant (A) and (B) is :

A.Ph—CHy —CH =0+ NH, — OH


https://dl.doubtnut.com/l/_VW6XWif33C9w
https://dl.doubtnut.com/l/_qH9EIEHB5hSE

B.Ph— CH = O + NH; — OH
0]
|

C.Ph— C — CH; + NH, — NH,
0]

|
D.Ph— C — CH; + NH, — OH

Answer: D

° Watch Video Solution

0]
| Ca(OH),
67.CH; — C — OH —— (A)
A
Product (A) is :
0
M


https://dl.doubtnut.com/l/_qH9EIEHB5hSE
https://dl.doubtnut.com/l/_yssbitke9Jbu

c.le

OH

Answer: B

° Watch Video Solution

68. Which of the following does not form a stable hydrate on addition

of H,O?


https://dl.doubtnut.com/l/_yssbitke9Jbu
https://dl.doubtnut.com/l/_harpCQ2RFZQq

Answer: D

° Watch Video Solution

69. Consider the following sequence of reactions.
H
: AL CisMgbr o SO, heat . 10 /\3/\+&0
2.Ha0 ~Hg0 2 In, Hz0

The ketone (A) is :


https://dl.doubtnut.com/l/_harpCQ2RFZQq
https://dl.doubtnut.com/l/_bE6JsKOqBS8R

Y
2%
Y
NG

O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bE6JsKOqBS8R

70. In the reaction,

@ + CH;COCH, E’ﬂ”ﬂf“?ﬁ—; X,

, the product

(X)is :



https://dl.doubtnut.com/l/_nMIpSJYgTBzW

Answer: C

O Watch Video Solution

71. The conversion of acetophenone into benzoic acid can be achieved

by its reaction with :

A. sodium hydroxide followed by acidification

B. iodine and sodium hydroxide, followed by acidification

C. hydroxylamine followed by reaction with Hy,SO4

D. m-chloroperoxobenzoic acid

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nMIpSJYgTBzW
https://dl.doubtnut.com/l/_iJ4KmKGa5Nb7

72. In which of the following compounds the methylenic hydrogens
are the most acidic?

A.CH;COCH,CHj,

B.CH;CH,COOC,Hj

C.CH;CH,CH(COOC,Hs),

D.CH;COCH,CN

Answer: D

° Watch Video Solution

73. Which is the major product of the following reaction ?

NH yOH

0 —F

H


https://dl.doubtnut.com/l/_oeZsSMTkLsNa
https://dl.doubtnut.com/l/_l0AcPwWT6bkT

C.
OH
r
N
D.
Answer: D

° Watch Video Solution

o

[ SOCI,

74.Ph — C — OH 2% (4)

> (B
Pd—BaSO4 ( )

Product (B) is :


https://dl.doubtnut.com/l/_l0AcPwWT6bkT
https://dl.doubtnut.com/l/_gDPCn7BDXKkH

0

|
A.Ph—-C—-H

B.Ph — CH, — OH

C.Ph— CH, — Cl

D.Ph — CH = CH,

Answer: A

o Watch Video Solution

75.The presence of unsaturation in organic compounds can be tested
with :

A. Schiff's reagent

B. Tollen's reagent

C. Fehling's reagent

D. Baeyer's reagent


https://dl.doubtnut.com/l/_gDPCn7BDXKkH
https://dl.doubtnut.com/l/_iuifsWAg5bwV

Answer: D

0 Watch Video Solution

76. Which of the following gives iodoform test?

A.CH;CH,OH
B. Co H;CHO
c. (CH,OH),

D. None of these

Answer: A

o Watch Video Solution

77.Which of the following btea-keto carboxylic acid does not undergo

decarboxylation on heating?


https://dl.doubtnut.com/l/_iuifsWAg5bwV
https://dl.doubtnut.com/l/_ePbPDxpJDCE6
https://dl.doubtnut.com/l/_IC2VGfyvi7dR

0,H

A.
/T

B.
CHy

C.

D. None of these

Answer: A

o Watch Video Solution

o]
“ PCC H a
__HaCmCiMgh ,(g) NHeCG/MZ0 ,(c
HOCH ;CH ,CH, — C— OCH ,CH; ———(A) a (B) )

[1]
il
ROH HIO_. E':C ho [D}
78 "o prdes

Product (D) is :

[o]

Il
0—C—CH, 0
| I
A, HC=CH— CH— CH, —CH, —C—OH
.


https://dl.doubtnut.com/l/_IC2VGfyvi7dR
https://dl.doubtnut.com/l/_GYmWeNM1PI8j

H,C = CH—CH, — ri' —COH

o o
Il Il
HiC = CH— C —a, —CHy —C—0—C—CH;

C. on

i
H,C = CH—CH, — CH—CH; —C—0 —H

D. o

Answer: A

° View Text Solution

79. The compound shown in the below undergoes racemization on

reaction with aqueous acid.


https://dl.doubtnut.com/l/_GYmWeNM1PI8j
https://dl.doubtnut.com/l/_Jgo77DhOO8AI

Which of the following structures best represents the intermediate

responsible for this process ?

OH
o



https://dl.doubtnut.com/l/_Jgo77DhOO8AI

O

e
OH
C.
H‘E‘- OH
=
HO OH
D.
Answer: C

o Watch Video Solution

80. The final product of the following sequence of reaction is :

Mg H,C=0 Itl-g()+
\ \
7 7

heat

~

(CH30),CHCH,CHyCH;Br

0]
|l
A.CH3;0CCH>sCH>sCH>sCH>sOH
(0]

|
B.CH3;CCH>,CH>,CH>,CH>sOH


https://dl.doubtnut.com/l/_Jgo77DhOO8AI
https://dl.doubtnut.com/l/_Jk4BMrQzs8LC

)

I
c. HCCH,CH,CH,CH,OH

o o

I I
p. HCCH,CH,CH,CH

Answer: C

o Watch Video Solution

81. The amino ketone shown below undergoes a spontaneous
cyclization on standing. What is the major product of this

intramolecular reaction ?
0
CCH,

CH,CHNH,

l
CH,


https://dl.doubtnut.com/l/_Jk4BMrQzs8LC
https://dl.doubtnut.com/l/_Ifffa7IlXX5l

A.
CHy
N
|
B. CHy
CH,
,,Hz
C.
CH4
Y
CH,
D.
Answer: D

° Watch Video Solution

82. Compound (A) CsH120 is optically active. Compound (A) give

negative Tollens test and positive test with 2-4-di-nitro phenyl


https://dl.doubtnut.com/l/_Ifffa7IlXX5l
https://dl.doubtnut.com/l/_QrPZXfrEbdSC

hydrazine. Identify A.

I
CH; — C—CHy — CH —CH,

H—C—CH, —CH—CH,

C. CH,—CH,

i
CH, — C —CHj — CHy —CH, —CH,

D.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QrPZXfrEbdSC

(ij + /ﬂ/ SRULS I
f (2VH,0%  9om

83. , Product


https://dl.doubtnut.com/l/_nJMAiKzjDkoH

Answer: B

o Watch Video Solution

@—Mgar NIt Cl O (conc) KOH (4 molar
O:o—_. () ML, (0) tAeme) , p) MM mik) (g
84.

Product (Q) will be:


https://dl.doubtnut.com/l/_nJMAiKzjDkoH
https://dl.doubtnut.com/l/_2GRUub6W6lpP

OH

Answer: B



https://dl.doubtnut.com/l/_2GRUub6W6lpP

| ¥ Watch video Solution

CrO,C conc. KO
85. Ph — CH, %% (4) %% py _ cH,0H + (B)

Product (B) of above the reaction is :

A.Ph — CO,H

B. Ph — CO,

C.Ph— CHO

D. Ph — CH;
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2GRUub6W6lpP
https://dl.doubtnut.com/l/_3gAuqHnZTtvB

CHO

(i) KCN

H i OH

CH, — OH

86.
obtained in the reaction is :
A. Diastereomer
B. Racemic
C. Meso

D. Optically pure enantiomer

Answer: A

iy H*

, Product

° Watch Video Solution



https://dl.doubtnut.com/l/_NPEXz18VQSFX

QO
g NHaOH |, (4)—H' () A" ()

87. , Product (

C) of the reaction is :

OH

e = &


https://dl.doubtnut.com/l/_x74UqXFIPUJD

C.
N OH
r
H
D.
Answer: B

o Watch Video Solution

DE' N, CH,MgBr y (A) —29, (B)+(C)
H,0%
88.

Product (A) and (Q) is :

0

I
A D—C—ma:c}tl,


https://dl.doubtnut.com/l/_x74UqXFIPUJD
https://dl.doubtnut.com/l/_nMKMeqO1oPC0

C

_Droagoian

Answer: C

° Watch Video Solution

OH 0

|  NH—C—
Ph—CH—CH, "¢, (4) 2 : RN

89.

Product (B) is :

o
Ph—C = N—C—NH—NH,


https://dl.doubtnut.com/l/_nMKMeqO1oPC0
https://dl.doubtnut.com/l/_u7kGqxsqWYPQ

Ph—C = N—NH—C—NH,

0
Il

Ph—CH == N—N— C—NH,
|

C CHs
0
D Ph—CH = N—C—NH;,
Answer: B

o Watch Video Solution

90.

Product (P) is :

A. Hemiacetal

v [P



https://dl.doubtnut.com/l/_u7kGqxsqWYPQ
https://dl.doubtnut.com/l/_H4T5HpC7vmk4

B. Acetal

C. Alcohol

D. Alkane

Answer: B

o Watch Video Solution

OMe
( Oxynlly|l catbon

o1. , Product

of rearrangement is :


https://dl.doubtnut.com/l/_H4T5HpC7vmk4
https://dl.doubtnut.com/l/_He3WgUrBh8i8

OMe
0
: OMe
@& O
OMe

@f}:m’
OMe

D.

A
B.
C.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_He3WgUrBh8i8

o0 Keq \ _CN
+ HCN === R—C
)’I\ ~
R R R
Reactant Ktq
PhCHO a
0
)J\/ ’
i
[
8]
CH g H ¢
92. 3

The correct order of decreasing value of K is :

Aa>b>c>d
B.d>a>b>c
Cd>b>a>c

D.d >a >c>d

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9UWBh6DmpWAZ
https://dl.doubtnut.com/l/_1utvjeDXoSwa

93. Product (B) of the given reaction is :

0

NH

Me

> (A) =+ (B)


https://dl.doubtnut.com/l/_1utvjeDXoSwa

Answer: B

o Watch Video Solution

94. End product ( C) of the reaction is :

0

(A 2nbigh

Hy0®

Ph
Ph

PN

At

B.

- H')f(_\ﬂll
o T
0
OH
0 OH
Ph
Ph
A O

(B)



https://dl.doubtnut.com/l/_1utvjeDXoSwa
https://dl.doubtnut.com/l/_NjTncBkWS5EL

Answer: B

o Watch Video Solution

.‘H_“__,.Jp does not undergo self aldol condensation
(A)

(4]
" HeO : i
95 Cy by H""‘""---...i Ph — CHO + Zb —'-'1‘5---. oxalc ackd

Compound (A) will be :
APh-C=C-C=C-CHO
B.Ph—-C=C—-CH=CH-CHO
CPh—CH=CH-C=C-CHO

D.Ph—-CH =CH -C =CH - CO,H

Answer: C



https://dl.doubtnut.com/l/_NjTncBkWS5EL
https://dl.doubtnut.com/l/_XLQMV4cqINif

| o Watch Video Solution

0
>—OH  Product;

* (2% ywld)
Catajyst TeOH
0, th
[modecular seves)

96. , Product

of the reaction is :

—_ —
0 0O

X

>—q 0—=<

!
)

>_0V0 —<


https://dl.doubtnut.com/l/_XLQMV4cqINif
https://dl.doubtnut.com/l/_wPwIz9wGhD83

Answer: C

o Watch Video Solution

97. Which pair of reactants compounds may be used to make given

acetal ?


https://dl.doubtnut.com/l/_wPwIz9wGhD83
https://dl.doubtnut.com/l/_KSir0GZmif2h

CH, — OH
+ |
CH, — OH
A.
8]
D
OH
B.
Q
(018}
N o
C.
[¢]
é ! >C0|{
(8131
D.
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KSir0GZmif2h

1
) )
g8, ‘Al

are isomers , Isomer (B) is :

up

A
A<
H
B.
H
OH
C.
CH,
H,\kr<z]
OH
D.

Answer: B

H* .
2 (B (A & (B)

, (A) & (B)


https://dl.doubtnut.com/l/_tVITmDjPnBdm

o Watch Video Solution

OH
/’J\\- P, (A)

S OH P gy

99.

(A) and (B) is differentiated by:
A. NaH
B. 2-4 DNA

C.Tollen's reagent

D. NGHSO:;

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tVITmDjPnBdm
https://dl.doubtnut.com/l/_cUfbTBjWtnx8

100. Which of the following pairs cannot be differentiated by Tollen's

reagent ?

A. Benzaldehyde and benzyl alcohol

B. Hexanal and 2-hexanone

C. 2-Hexanol and 2-hexanone

D. Pentanal and diethyl ether

Answer: C

o Watch Video Solution

101. An optically active compound CgH{5,0 gives positive test with 2,
4-dinitrophenyl hydrazine, but negative with Tollens' reagent, what is

the structure of the compound ?

o

|
A.CH; — C — CH, — CH, — CH, — CH,


https://dl.doubtnut.com/l/_rGefy502L445
https://dl.doubtnut.com/l/_ON3lS09JRtji

0]
|
5.H O~ OH — CH, - CH, - CHy
CHs3
0]

C.CH; — C_CH - CH, — CH,
o,
O
D.CH; — CH, — C_CH - CH,
o,

Answer: C

o Watch Video Solution

102. Compound (A) CgH1503, when treated with I, in aqueous
sodium hydroxide gives yellow precipitate. When A is treated with
Tollens reagent no reaction occur. When A is hydrolysed and then
treated with Tollens reagent, a silver mirror is formed in test tube.

Compound (A) will be :

@)

|
A.CH; — C — CH, — CH, — C’\H — OH
OCHj


https://dl.doubtnut.com/l/_ON3lS09JRtji
https://dl.doubtnut.com/l/_Dc8fO6XooojM

o OCHj

|| |
5.CH; ~C ~ C -~ CHy
OCH;3
(0]

|
C.CH; — C — CH, — CH(OCH;),
]

|
D.CH; — C — CH, — CH, — CH(OCHS),

Answer: C

o Watch Video Solution

CH; —CH; —CO,H — &, 4 Ny NH; 5 hew 0y

BatO,

CH, — CH, — CO
103, 2 : H

( C) obtained is :

A.CH; — CH = CH — CH>

KOH

, Product


https://dl.doubtnut.com/l/_Dc8fO6XooojM
https://dl.doubtnut.com/l/_dsgMOhiq3iNK

r"l- — :'l"ltlr'\-

Answer: C

° Watch Video Solution

104. Which of following does not react with NaHSO5; (sodium
bisulphite)?
o)
|
ACH; -C - H

o

1
B.CH; — C — Et



https://dl.doubtnut.com/l/_dsgMOhiq3iNK
https://dl.doubtnut.com/l/_YIhdGZPObuWD

o
|
C.Et—C — Et
o

i
D.Ph — CHy — C — CHj

Answer: C

° Watch Video Solution

CH, — CH, — CHy — NH;

—

o

L
Q

, Product


https://dl.doubtnut.com/l/_YIhdGZPObuWD
https://dl.doubtnut.com/l/_r78kBNeQdeqj

C.
©@
N
|
H
D.
Answer: C

o Watch Video Solution

0 0
U +CH, = CH—CH, — Br —"%— (A4) ;
75%)
106. , Product


https://dl.doubtnut.com/l/_r78kBNeQdeqj
https://dl.doubtnut.com/l/_V5giiQ3kA10f

CH, — CH = CH,

Answer: B

° Watch Video Solution

CO,H

i1} Me-Lilexcess) {A) L2 » {B) + CHI,
- {2) HCL/H,0 NaGH
107. , Product

(B) in this reaction is :


https://dl.doubtnut.com/l/_V5giiQ3kA10f
https://dl.doubtnut.com/l/_toA4vEq2vWYu

Gﬂzﬂa

B

A.
B.
CO,Na
C.
CD-‘.Hl
D.
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_toA4vEq2vWYu
https://dl.doubtnut.com/l/_neHNzdhXW6Xz

[ D
Ry o'

Arrange the following reagent in the correct order in which above

108.

transformation is carried out :
A.KOD/D,0, HT /A, LiAlH,
B.H™ /A, KOD /D50, LiAlH,
C. KOD /D0, LiAlH,, HT /A

D.LiAlH,,H* /A, KOD/D,O

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_neHNzdhXW6Xz

0
Il )
CHy —C—H—H2 4y H0" ,p) ——(C)—A8e (D) —H1% , HCHO + (E)

109.

Compound ( C) can show geometrical isomerism. Product (E) of the

reaction will be:

(0]
|
A.CH; — C — CHj,

@)

||
B.CH3; —CH, —C — H

C.CH3; — CHO

D. HCHO

Answer: C

° Watch Video Solution

110. Arrange in their increasing order of equilibrium constants for

hydration ?


https://dl.doubtnut.com/l/_EYbc3z0CDWAW
https://dl.doubtnut.com/l/_DPWRQmRyegRQ

O o O

[ I I |
CHy —C—CHy;, CHy —C—H, CHy—C—CH,—C, H—C—H,

(A) (8) () =}
O
I
Cl—CH; —C—H

[E}Y

AA<B<C<D<E

BA<C<B<E<D

CA<C<E<B<D

DC< A< B<FE<D

Answer: B

° Watch Video Solution

111. End products of the following sequence of reactions are:

O
X,
ﬁ _C},I] IH

1a

0


https://dl.doubtnut.com/l/_DPWRQmRyegRQ
https://dl.doubtnut.com/l/_ELaSJUb6MB4v

4]
yellow ppt. of CHI,, q
A COOH
0
yellow ppt. ufcm.,q
CHO
0
yellow ppt. of CHI,, U
yellow ppt. of CHI, g“

B.

Answer: C

o Watch Video Solution

{11 ExDNa .
Hl. - l:l"! : o m — _ﬁ ¥ ['F] ¥
||
(2)CHy —C—Cl
(3) HyO® fa
112. , Product

(P) of the reaction will be :

@)

||
A.Ph—-CH, - C — H


https://dl.doubtnut.com/l/_ELaSJUb6MB4v
https://dl.doubtnut.com/l/_aLXYaZWBXWpq

0]

|
B.Ph — CH, — C — CHjs

0]
CPh_CH_C_H
o,
0]
D.Ph—CH—g’—C’Hg
o,

Answer: B

° Watch Video Solution

113. a

of the reaction are :

A. Racemic mixture

B. Diastereomers

(i) NaCN

-_._H._—..p

() H 50,

P

. Products


https://dl.doubtnut.com/l/_aLXYaZWBXWpq
https://dl.doubtnut.com/l/_yaICETP106vE

C. Meso

D. Mixture of meso compound and optically active compound

Answer: B

o Watch Video Solution

Hls'ﬂl_l_ {B} LiAlH, " {C}

dil. H,50, r recemic mixmure

(A)
114,

. reactant (A) is :

A CH; — C =CH

B.HC =CH

C.CH; —C =C — CH,

D. Ph — CH = CH,

Answer: C

| &~


https://dl.doubtnut.com/l/_yaICETP106vE
https://dl.doubtnut.com/l/_8hhlBjeukQFy

[ @ Watch Video Solution

o

| NaNO
15.CH3;CHy, — C — CH; a—> , Major product of this reaction is :

0]
I
Aam?H—C—Om

NO
0]
I
B.CHs; — CH, — C — CH =N — OH

N—OH
C.
CH —cug—'i —CH,
N—OH
D.
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8hhlBjeukQFy
https://dl.doubtnut.com/l/_wqdRq6okd8Z9

MM, OH

(DH" .4
(3) LIAMM,
116.

T
 00@0
Noedoe;
D. ©I> &

Answer: A

»A)+ (Bl

. Product

o Watch Video Solution



https://dl.doubtnut.com/l/_7yFO0Zf6Diey

+ ﬂ'[,Hﬂ: —‘"@-—""A

mitresTeed fisne

CH = CH— NO,
ey

OH

CH==CH — NO,
Q ;
-

B Q

= CH—NO,
HO” S

C.
OH
é:H —CHy — NO,
yes
o
D.
Answer: A

44, p).
a oM,

. Product

° Watch Video Solution



https://dl.doubtnut.com/l/_0T5qp1lIERik

. Product


https://dl.doubtnut.com/l/_0T5qp1lIERik
https://dl.doubtnut.com/l/_GWe9PPz1BJ3g

Answer: A

o Watch Video Solution

0
'm\/\.)l\/\/':i KL, (4),
{Zmale )
119. _ . Product
(A) is
/\j\/‘*@
A.
[
>—c—<
B.
0


https://dl.doubtnut.com/l/_GWe9PPz1BJ3g
https://dl.doubtnut.com/l/_O5kGY3eBmDzP

Answer: B

° Watch Video Solution

(0] OH
| |
120R—C - R<2sR— C —R
(catalyst ) |
CN

Which of following can be used as a catalyst in the above reaction?

A.Cl™
0

I
B.CH; —C — O~
CEt—0"

D. HSO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_O5kGY3eBmDzP
https://dl.doubtnut.com/l/_QFsjdXDAdmEa

121. Arrange the following carbonyl compounds in decreasing order of

their reactivity in nucleophilic addition reaction.

COCH, CHO
(i) {m (iid) (tv)

Al > 111 > 1 > w

B.i2 > 1 > v > 1t

C.i10 > i1 > 1 > v

D.212 >t > v > 1%

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QFsjdXDAdmEa
https://dl.doubtnut.com/l/_vYZ89eppCuKl
https://dl.doubtnut.com/l/_AU8vP8xGX5te

122. The following reaction were carried out

O V\f" _1pfhaciCy

The finalproduct formed in the above reaction sequence is


https://dl.doubtnut.com/l/_AU8vP8xGX5te

Answer: B

° Watch Video Solution

5%
B MCSG—C-JCHE—E‘-’—D Mc,C—C—CHz—Br

(ﬂ'.l|5-l-ﬁ

OH

Me;C —CH— 3 1—::: M-C]_C —CH — CH: -— Br

123.
Yield of each step as actually carried out in the laboratory is given
above. What is overall yield of reaction?

A.042

B. 0.31

C.0.21

D.0.6

Answer: C

| o Watch Video Solution


https://dl.doubtnut.com/l/_AU8vP8xGX5te
https://dl.doubtnut.com/l/_K6gPXu5VQgAa

5%
- MeyC —C-—-CHy ——+ Mey;C —C— CHy — Br

(A)
(8] | 549

OH

Me,C — &2 — Me;C — CH — CH; — Br
124. “

What is the appropriate reagent to carry out above synthesis, i.e, A, B,
C respectively are :

A. Brz/H+, LiAlH,, H®

B. Brz/H+, NaBHy, HO ™

C.NBS, AlCl3, HO™

D.Bry /HO ™, BFs, HO~

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_K6gPXu5VQgAa
https://dl.doubtnut.com/l/_MMkgQSqR7Gw4

OH

@ A () O o) T ) WO
{High remp

& pressure)

125, Product (E)is: , Product

(E) is :

A. Nylon 66

B. Nylon 6

C. Styrene

D. Polystyrene

Answer: B

° Watch Video Solution

126. Methyl vinyl ketone on reaction with LiCulMe, gives a major

product, whose structure is :


https://dl.doubtnut.com/l/_L1tN7yCA3bZv
https://dl.doubtnut.com/l/_v0aJaHiz1eNJ

Answer: A

o Watch Video Solution

127. Which of following is in capable to show iodoform test ?

(8]

A.


https://dl.doubtnut.com/l/_v0aJaHiz1eNJ
https://dl.doubtnut.com/l/_ItRK0cTODm2i

OH

|
B.Ph— CH = CH — CH — CH;

OH
H,C = CH CH,

o
H Il
CHy — C —CHy
D
D.

Answer: C

o Watch Video Solution

0
I I (NH. );€05

€1 5 G0y Na
CH, —C—CH, —CH, —C—CHj;- P (A—— )

Ummapor)

128.

Product (B) of above reaction is :

o

M


https://dl.doubtnut.com/l/_ItRK0cTODm2i
https://dl.doubtnut.com/l/_APw5iiJ7KGDd

Cl

M
B.
Cl
@4
N
C.
oL
N cl
D.
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_APw5iiJ7KGDd

CO,EL
lﬂ H O
—_3 AP
Et0,C
129. 0 , Product
obtained is :
0
i €O, Bt
A. 0
0O
O


https://dl.doubtnut.com/l/_l4IL2RZDUW8o

OH

0

D. None of these

Answer: B

° Watch Video Solution

LiAlH, H®
130. (A) i (B) — Diastereomers
Symmetrical A
Ketone
Reactent (A) is :
(0]

Aam—b—cm
0]
acm—g—cm—cm
(0]

|
C.CH; — CH, — C — CH, — CHj


https://dl.doubtnut.com/l/_l4IL2RZDUW8o
https://dl.doubtnut.com/l/_cvLcSRkPzbmn

D.CH; — CHy, — CH, — CH = O

Answer: C

o Watch Video Solution

OH
20 . —H
+x LiAIH —‘Ea—”ﬂ'—sl + Li* and AI®* Salt
(90% yield)
Cyclobutenone Cyclobutanol

131.

Value of x in above reaction is :

A1l

B.2

C.3

D.4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cvLcSRkPzbmn
https://dl.doubtnut.com/l/_iXpkGeaTGPgA

(4) 0L, () Ha20, (C)—Eﬂo.—l(DH[EJ—mEl—aCH,—-N;C

(0)—30%2_,(F) """‘['ml":""‘ +(G) “' () —ala L>_<
132.

Molecular weight of compound (A) is :
A. 58
B. 120
C. 60

D. 182

Answer: A

° Watch Video Solution

o

aqueous acid

|
133. PhoCH — C — H ———— (A) + enol + aldehyde
81% 2% 17%

Product (A) of above reaction will be :


https://dl.doubtnut.com/l/_iXpkGeaTGPgA
https://dl.doubtnut.com/l/_6Kzq5yzSxKaL
https://dl.doubtnut.com/l/_jHHo2WPak3h3

A.Ph—|C:CH—O
Ph
OH

B. PhoCH — Cle
OH

C. PhoCH — CH — OH
0]

|
D. PhyCH — C — CH;

Answer: C

o Watch Video Solution

134. Which of the following will form stable hydrate ?

A.CCIl3CHO (Chloral)

co
AN
CO(Ninhydrin)
co”

B.

C. All of these


https://dl.doubtnut.com/l/_jHHo2WPak3h3
https://dl.doubtnut.com/l/_ohZzhUtuynII

Answer: D

o Watch Video Solution

135. The pH at which maximum hydrate is present in an solution of

oxaloacetic acid :

0 O O
i |
H—0—C—C—CHy—C—0—H

pK, = 2.2 pK, = 3.98
A.pH=0
B.pH =12
C.pH=4

D.pH=6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ohZzhUtuynII
https://dl.doubtnut.com/l/_jjZfuaeOcrXL

136. Arrange their stabilities of given gem-diols in decreasing order.
OH

0¥ 3
- " (:'i”” |—><I:JII
{IlE HI“‘“{}” (1 {nn ST OH

Al>II>III

B.III > II > 1

C.I>1III>1II

D.IIT > 1> 11

Answer: A

° Watch Video Solution

137. Maximum hydration takes place of :

o

I
A.CF,CCFy

o

|
B.CH3CCHj


https://dl.doubtnut.com/l/_H9kTI5cb7tTB
https://dl.doubtnut.com/l/_AtJEHlJUDE4d

0]
]
C. CH3‘C’H — CCH;
Cl
0]
|
D. Oy HsC CyHs

Answer: A

o Watch Video Solution

138. The conversion, PhCN — PhCOCHj3, can be achieved most
conveniently by reaction with:

A. CH3MgBr followed by hydrolysis

B. I2 — NaOH, CH3I

C.dil. H,SO, followed by reaction with CHy N,

D. LAH followed by reaction with CH3I

Answer: A

| o WMiakdl. \tdaa Al ikt



https://dl.doubtnut.com/l/_AtJEHlJUDE4d
https://dl.doubtnut.com/l/_Qv9qkGSRJmkg

 § __vYvailll VIUCU JUVIULIVII

i
; AN
U |y e
2}
H-0

In the above reaction, product (B) is :

139.

o, -

i

A
B.
C.

Oﬂh OH


https://dl.doubtnut.com/l/_Qv9qkGSRJmkg
https://dl.doubtnut.com/l/_IU3CVi4bcBNq

Answer: B

o Watch Video Solution

A,

1
(A)—

1
» (B =
140.

Structure of Ais :


https://dl.doubtnut.com/l/_IU3CVi4bcBNq
https://dl.doubtnut.com/l/_D5zunv7iFkJc

Answer: D

o Watch Video Solution

.A.
N/
141, 0

0 —2p HCHO + (A) Ty (p)

Product (B) is :


https://dl.doubtnut.com/l/_D5zunv7iFkJc
https://dl.doubtnut.com/l/_VgeW9fLt17yT

Il
A Ph—NH—C—CO,l

i
Ph —NH — C- Cl1, — CO,H

B.

Answer: B

o Watch Video Solution

CO,H

142.

To carry out about conversion, arrange the following reagents in


https://dl.doubtnut.com/l/_VgeW9fLt17yT
https://dl.doubtnut.com/l/_R6p4WkTBygXy

correct order.

0,/Zn EtONa / EtOL1/A NaOCl H
in o oY 4

Al—-3—-2—14
Bl1—-2—+4—3
Cl—>3—4—2

D1 -2 —+3—>14

Answer: D

° Watch Video Solution

HOCH,

[#]
! ¢
- _ - CH 3~ C~CH 0] N
H,C = CH-CH, CH, ? OH Fon L (A) g 45 (B) + HCHO
CH, - CH
143. ! !
Product (B) is :
o CH,~ 0. ,CHy
I | [§
H—C—CHy —CH, —C — 07 “gH,

A e


https://dl.doubtnut.com/l/_R6p4WkTBygXy
https://dl.doubtnut.com/l/_7ykHYu05we6g

O
I ~O -CHy
H—C-c—cal,—¢ ¢

B B’ o7 “cH,

o CH;—O. CH;

] |
H—0—C—CHy— CH, —C

C.

C
AN
o Cily

Il O CHy
H—C—cH,—¢ ¢

B’ 07 “cH,

Answer: A

° Watch Video Solution

Br
ﬁ H CHO ) CHO
o =0T =0
144. : :

Identify appropriate reagents for the above reaction :

A.a = Bry /CCly, b = aq. KOH
B.a= Bry/H",b=0aq. KOH
C.a=Bry/H" b= alc. KOH

D.a = Bry/JOH ,b = aq. KOH


https://dl.doubtnut.com/l/_7ykHYu05we6g
https://dl.doubtnut.com/l/_PkXKOG49g3gM

Answer: C

o Watch Video Solution

OH OH
PhiHO (X1
H* o
Mie Me
145.

(X) of this reaction is :

, Product

Fh

|
CH
. /A/Q\A\


https://dl.doubtnut.com/l/_PkXKOG49g3gM
https://dl.doubtnut.com/l/_2OSMn2bjNja5

Answer: B

o Watch Video Solution

146.The K, values in HCN addition to following aldehydes are in the

ot oo

Med 2
(1) (1 {11

order:

Al >1II>1III

B.IT > IIT > 1

CIII >1>11

D.II > 1> III

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_2OSMn2bjNja5
https://dl.doubtnut.com/l/_B4C5EN2Olu16

H
K, O
(1) CHy—(ON === A +ien

CH,
OH . o
(2) 'II:H:,—(E—CN e /]‘\ +HCN
| H
147. H

relation between K; and K, is:

A K, = K,

B.K; > K,

C.Ky > K;

DK, = K, = 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rR2mcMdt1MYh

148. Which of the following is correct for the reaction ?

+Hm pll-".-‘mlﬂ " {A}

A. A'is cyanohydrin

B. Nucleophilic-addition reaction

C. The above reaction is not shown by alkens

D. All of these

Answer: D

° Watch Video Solution

149. Which of the following compounds (¢ through v) should not be

classified as an acetal?


https://dl.doubtnut.com/l/_VbfRVybB8Oju
https://dl.doubtnut.com/l/_ksfskbWjfstC

OCH,

H
(ii) (iif) (iv) v)

N eolo clevalrs

A.ii and iii
B.iv
C.i

D. none (they are all acetals)

Answer: D

° Watch Video Solution

150. In which of reactions final product is NOT a ketone :

A CHy —C = C— H—2 04y Sl (g) B850u_, ()
. HaS0

H—CmC—H— MM, ) ~9‘—’—°’A;~(DWJ‘;L':‘—'¢L(Er

B.

C 9 R ._,gﬁou;‘ﬂa(gj_ﬂ‘:L,(g)


https://dl.doubtnut.com/l/_ksfskbWjfstC
https://dl.doubtnut.com/l/_airdlLVkcefp

Sy
D. Lbutyne MW (4) @61, gy @w0uMO" ()

Answer: C

° Watch Video Solution

151. The reaction of ethyl methyl ketone with Cl, /excessOH ~ gives
the following major product

A.CICH,CH,COCHj;

B.CH3;CH,COCCl3

C.CICH,CH,COCH,CI

D. CH;CCl (2)COCH,Cl

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_airdlLVkcefp
https://dl.doubtnut.com/l/_scvKopmkWHKN
https://dl.doubtnut.com/l/_JTZFM5erNF8r

152. The product obtained from the following sequence of reactions is

HgSO0, NaBH,
CH; - C=CH > A p
H2504

A. propanol

B. 2-propanol

C. 1-propanol

D. propane

Answer: B

o Watch Video Solution

153. Which of the following shows oxidation of reactant.

0 0
{1}/\/—.)K/ (Zl/ﬁ\——k

OCH,

3) @ —_— O (4) CH, =CH; — CH,—CH,—l

Al


https://dl.doubtnut.com/l/_JTZFM5erNF8r
https://dl.doubtnut.com/l/_nQHg8PcI3DKb

B.1,2

C.1,2,3

D. All of these

Answer: B

° Watch Video Solution

154. The enolate ion that reacts with

O

A]/ to form EI:Q\

0 4]


https://dl.doubtnut.com/l/_nQHg8PcI3DKb
https://dl.doubtnut.com/l/_BRhvQual9ksJ

a
B.
&
8]
C.
O
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_BRhvQual9ksJ

O

HiQ

1H,Pd

Al 0y

CH_& | Nanb o lo<cH
155, “HTC

What is the final product T.
HyC—C = C—C—CHy

?H
CH—C—CH;

H,C = CH
CH,

CH,—C == CH—CH,
C.

CH,

Answer: D

=5

o Watch Video Solution



https://dl.doubtnut.com/l/_ezs5NUFtgtf9

1. Select the best choice for example (A to L) from the examples (a to

n) given below. Write your choice in the box given.

o}

—
"]

®| ZnHYHOM

® ()| NaBH, aq. alcohol | @) Gin
A= : ‘

HO.

.r‘:" : b . ?CHB
@] Agovy),Vou' |0 @J‘cﬂa ® CHy—C—OCH;

CHy

(m) ID ®| a,—cn,—c”
i “H

° View Text Solution



https://dl.doubtnut.com/l/_uKSpUNawZLO3
https://dl.doubtnut.com/l/_OSJrd7qn2lbK

2. The following questions refer to the compounds (A to G) shown

below :

.'“'r," Which compounds are Which compounds are Which compound are

i | reduced by sodium il | hydrolyzed by  hot |H| oxidisized by

;_-'£r_: borohydride ? aqueous acid ? CrO, /pyridine?

A -l A E A E

B | F B F B F

e G | HE G C G

i e D H D| H

B 4 ) 0
ol [oal B -Naa

e

= 0

o O [ 0 OJ\(/

. G. H.

[ HD’U = \(tﬂ éo

° Watch Video Solution

3. Match of the column :

O
L‘;@ )\/ LiATH ¢ (P) | racemic mixture
-
r )\ﬁ, (q) | Diastereomers
| lz‘H’
2& | ph—cH,—C1 <, r) | Nu-addition reaction
o
bu, (8 | Nu-Substitutions reaction
[P i



https://dl.doubtnut.com/l/_OSJrd7qn2lbK
https://dl.doubtnut.com/l/_50Zpnb4prw29

| @ Watch Video Solution

4. Complete the following table.

(solvent)
COOCH;
= . . B
b, O—(CMHJ H' [H,0/a
0
2 @A\H (CH, ), C— P(CeH5 ) c
% 1. 1" [(CH)yCul™
d. in dry ether D
2 H'/H,0
CHyy_ o
e E OH " fethanol/4 CH,

° Watch Video Solution

5. Consider the following reactions and answer A and B.

-

| 58% | sa%
(CHSJ:;C_C_G{S —'W {_CH:\_): C_C_CHR_'BI‘ T’

OH

I 68% rd
[01[3]3C—12|Z~—(312—'31 —-—'{CH;J;C--ii,—- CH:

H H



https://dl.doubtnut.com/l/_50Zpnb4prw29
https://dl.doubtnut.com/l/_XOo7PcLjc3tl
https://dl.doubtnut.com/l/_59qb0HQnkOc3

Suggest a reagent appropriate step (a0 the synthesis.

A.HO™ /Bry (1 mole)
B.H " /Br, (1 mole)
C. both (a) and (b)

D. None of these

Answer: C

o Watch Video Solution

6. Consider the following reactions and answer A and B.
i o]
L%

| I S4%
(CHy)y C—C—Cly - "= (GHa)y € — C— €Hy — Br —50

ot Q

! 8% 7N
(@11y)3 € ¢ — @i, — B S (GHy)y € C— G
i

H H
Yield of each step as actually carried out in laboratory is given above

each arrow. What is overall yield of the reaction ?


https://dl.doubtnut.com/l/_59qb0HQnkOc3
https://dl.doubtnut.com/l/_7M6l4p7BypYt

A.0.6

B.0.21

C.04

D. 0.68

Answer: B

o Watch Video Solution

0=0

Reaction 1. @/ —H (1) Acs0, AcONZ, A 3(A)
@H,0% 4

(o]
I
— A(OCH
Reaction 2. Ph—{‘.H-CH—C—CI-I,—ut_—‘E_i{:"—r(B)

CHy

OH

|
Ph —CH = CH— CH— CH, — N, ¢y
{2IH*

7.

Degree of unsaturation present in compound (A+B +C) is ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7M6l4p7BypYt
https://dl.doubtnut.com/l/_0bkrEzrUKtYV
https://dl.doubtnut.com/l/_EVQLXcPqyNY8

8. Within each set, which compound should be more reactive toward

carbonyl addition reaction ?

Set (1)

|
CH, — C—CH; —Br CHy — C—CH; —CH, —Br

0
Set (2) E E [
CH; — C— C—CH, CHy; —C—CH, —CH,

0
s _@_C_H CHy —C—H
2 g G
Set (5) [>=o D=0

|
!
N CHO |
[ |
| H I
H |
o 0 |
Il I _
C—H i ] C—H
Set (7) |
. 6] (8]
CHO

CHO cl |
Set (8) Oﬂj @ .
[s]

Set (10) i @—E— H .
CHy; —C—CH; —CH, |



https://dl.doubtnut.com/l/_EVQLXcPqyNY8

I & Watch Video Solution I

9. Match the Column (I) and Column (I1). (Matrix)

Formation of six member
m HCN (A) LiATH (B) NaNO, .r.r‘} (’) r‘h‘ls takes p|Rl;‘l.'

traces of KOH HO

(B) & NHAOM |, ay HT oy LA ey (@) | Final product is Ketone

(o}
i Final product formed

I f
CHy -C~-CH, =CH, -~ CH; = C- H—Hf:—> (A) |8} | will give positive Tollens
test

Ph Final product formed |

| ﬁ — Yy 6A) (s) | Will react with 2,4-DNP. |
ik {2,4-di-nitrophenyl I

e hydrazine) |

o Watch Video Solution

10. Consider reactions A through F. Those carbon atoms undergoing
change, as part of a functional group, are marked as C'2, C'* or
starred. In the cases shown, each carbon atom has either been

reduced or oxidized. Your job is to identify the change in oxidation


https://dl.doubtnut.com/l/_EVQLXcPqyNY8
https://dl.doubtnut.com/l/_3eFWFc2Gj7DL
https://dl.doubtnut.com/l/_OhbbI0Ag4Orn

state that has occurred for each of the marked carbon.

A, | CH,CH =CH, ~ " CH,CHBrCHBr Reguced Reduced |
12 14

Oxidized Oxidized |
! ((1B3H, Reduced Reduced |
B. | CHyCH = CH, —rrsmii— CHGCH,CH,0H == g
Oxidized Oxidized |
C. | cH,CH, CH = 0 —tBHe_, e}, CH,CH,0H Jales
i ficd bl b Oxidized
; + gt Reduced
D | CH,CH,CH = O —pppiss* CHaCHCOH =
B | cH,c00H, Gogn—ten, § O Reduced Boduckd
i 12 "4 0=C=0 Oxidized Oxidized |
'_r.. Hz = C(OHJC;HS tauromerzation H:CCOCZHE REdﬂ‘CEd Bg_d_u@_:
e ae Oxidized Oxidized |

° Watch Video Solution

11. Consider the possible formation of an aldehyde or ketone product
when each of the ten compounds in the column on the left is treated
with each of the reagents shown in the top row. Check the designated
answer box if you believe an aldehyde or ketone will be formed.

Assume that the reagents may be present in excess. For each checked


https://dl.doubtnut.com/l/_OhbbI0Ag4Orn
https://dl.doubtnut.com/l/_AVgPoEEuwBcw

reaction, try to draw the structure of the major product (s).

o View Text Solution

12. Wittig reaction :

The reaction of a phosphorus ylide with an aldehyde (or) ketone


https://dl.doubtnut.com/l/_AVgPoEEuwBcw
https://dl.doubtnut.com/l/_oRrMIOwGXwas

introduces a carbon-carbon double bond is place of the carbonyl

bond.

0 CH,
R—C—R + PhaP =CH,—> R—C—R + Ph,P=0
Mechanism :

ey

0 g  PPh

G I
R-C R 4 G, Pen, R—C—CH,

Mucleaphilic sddition R

e Rty ) b sy WD Tl pmde |

*
CH, 0 + PPI
i! -—J A 3
O =PPhy + R —C—R R c-Len,
R

oEa "d':-u'ﬂ pr'.-' TAnY

wiier meedialr |

Driving froce of the reaction is high bond energy of (P = 0).

(AH = — ve).

+ PhyP == CH, -— (A) (major),

,  Major
product (A) is :


https://dl.doubtnut.com/l/_oRrMIOwGXwas



https://dl.doubtnut.com/l/_oRrMIOwGXwas

Answer: A

O Watch Video Solution

13. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.
CH,
Il !
R—C—R + Ph3P=CHI———l R—C—R + Ph,P_—.rO

[ ™
i
PPh,

Mechanism :
77
R w&: —$Ph1 — R _{l: - CII'Z
R

(Nucteaphilic sddition

reactinn (betaune mtermediate |
CH, PPh.
3
!

D==F'Ph3+—R—.——R 4 R (; 2
|
R

{oxaphosphetane
mtermediate}

Driving froce of the reaction is high bond energy of (P = 0).

(AH = — ve).


https://dl.doubtnut.com/l/_oRrMIOwGXwas
https://dl.doubtnut.com/l/_F76Wy89fyXUx

)

|
CH; - C -CHy, — CH, — CHy, — CH,

product (A) is :

CH,

A.
H,

B.
CH,

]
— PPhs

Ph—Li
_Z_; (A), Major


https://dl.doubtnut.com/l/_F76Wy89fyXUx

Answer: A

o Watch Video Solution

14. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.


https://dl.doubtnut.com/l/_F76Wy89fyXUx
https://dl.doubtnut.com/l/_vnFQ5WvRyKm8

CH,
I (!
R—C—R + PhyP=CH;— R—C—R + Ph,P=0
Mechanism :

[

&
Pl‘PhS
R-G¢ R 4 G, Ben, —> R—G—CH,
(Nucleophilic addition
reaetion ) {betaine intermediane }
CH, t]? 7 PPh-
| 3
[}==PPh3+R—J—R ; R--n%—fllndz
R
{oxaphosphetane
mtermediate }

Driving froce of the reaction is high bond energy of (P

(AH = — ve).
f anH
Ph P
CH! CH, ——

product (A) is

A. cis-2-butene
B. trans-2-butene
C.iso-butene

D. 1-butene

= 0).

Major


https://dl.doubtnut.com/l/_vnFQ5WvRyKm8

Answer: B

O Watch Video Solution

15. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.
I 'k
R—A—R+ PhyP =CH; — R—(!—R + Ph;P=0
Mechanism :
PPh
R-¢-R o C,-Bpn, — R—G— @,
(Nucleophilic sddition
redction ) {bcuheIm:rrmede
CH, 9 5 PPhy
| 2
D~——-=PPh3+R—J—R — Rw-?-dzuz
R

{oxaphosphetane
intermediate)

Driving froce of the reaction is high bond energy of (P = 0).

(AH = — ve).


https://dl.doubtnut.com/l/_vnFQ5WvRyKm8
https://dl.doubtnut.com/l/_OmIdxZs2ZxFE

0 Q) s}
I I ! ;
CH4 —C -(CH;)3 - C-CH, - P(OBt); —="— (A) (cydlic). |
. Product (A)

B. ChH-


https://dl.doubtnut.com/l/_OmIdxZs2ZxFE

CH

Answer: B

o Watch Video Solution

16. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone
introduces a carbon-carbon double bond is place of the carbonyl

bond.


https://dl.doubtnut.com/l/_OmIdxZs2ZxFE
https://dl.doubtnut.com/l/_TnO7mVqCGCJe

CH

0 2
¢ ¢
R—C—R + PhyP=CH;—+ R—C—R + PhyP=0

Mechanism :
H{.
{
R-G-R &1, - Ben, — R— CI — CHy

(Nucieophilic sddition R
reaction ) (betaine mtermedute )

CH, PPh.,
! Ch,
0= PPhy + R—C —R ‘ R—C 15
|
R
{oxaphosphetanc
intermediate )

Driving froce of the reaction is high bond energy of (P = 0).
(AH = — ve).

Identify major product in given intramolecular wittig reaction :

Il
Rxn-1 — CH, — C—CH; — CH(CO,Et), + H,C == CH— “PPh, ¥ ,(4)

CH =0
Raxn -2 ; @: - +HC=CH—¥PPh; —— (B)
SNa

Product (A) and (B) respectively are :

CO,Es
AL QD

o O


https://dl.doubtnut.com/l/_TnO7mVqCGCJe

Answer: A

0 Watch Video Solution

17. Wittig reaction :
The reaction of a phosphorus ylide with an aldehyde (or) ketone

introduces a carbon-carbon double bond is place of the carbonyl

bond.
0 o,
R—ll?l-—nﬂ. + PhyP=CH;—+ R—C—R + PhP=0
Mechanism :

[
¢ f i
R- UE’HJ --?*Ph, — R— CI — CHy

[Nucleophilic addition R
Feactinn {betaine iniemediadie )

o

[
0—PPh, + R—C—R « C
I

R
{oxaphosphetane
utermediate }

Driving froce of the reaction is high bond energy of (P = O).

(AH = — ve).


https://dl.doubtnut.com/l/_TnO7mVqCGCJe
https://dl.doubtnut.com/l/_meqJLHFzjp0B

CH, - Br

(1) Ph P2 mwode )
“@awnn o A
CH, - Br  @cno

CHO
, Product (A)

o

A

o ©

<9

Answer: B


https://dl.doubtnut.com/l/_meqJLHFzjp0B

° Watch Video Solution

18. Match the column :

| G

®

NH,/NH,/HO®, A

(Wollf -Kishner reduction)

V“/\
O &

] Zn(Hg), HCI
(b) o ‘© s @ (Clemmensen
i | reduction) |
fl<co'- .coff ~
i OH

lri‘_] Sy Cjz)j/\ (s) None

o Watch Video Solution



https://dl.doubtnut.com/l/_meqJLHFzjp0B
https://dl.doubtnut.com/l/_IpBg8EdQaSBu

HgS0, MNaBH
(A) 850, gy (1 NP, o, —C—CH,—CH;
dil. H; 50, (MH* A I

19. CH—GH;
Reactant (A) is :

CH; —C == C—CH—CH,
|

DCHg—CEC—CH2—CH2—CH3

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_abpJ0fglglCb

HgSO, (1) MaBH,
1, — ¢H,—C—CH,—CH
(A) dil. H 380, (B) (HH" A 4 ” ? ’

20. CH—CH,

Product (B) is :

A.)cf\/\<
L

A

kS

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_niEHv3gIWcJH




